HNHCTPYKIIUA 34 MOHTAX
apTUKYJ: 85563060001

'

1/8




2/8




3/8

X1 x4 C X1 X2
- — N

X2 X1 G X1 X1
N | T & s

X3 X2 K X0 x4
D E_jﬁ\ ;\3\\\\5 § \%?;33*\\*‘“\

M6*13 M6*30 M6*40
x10 X1 O x 1
[ [
M6*14*1 S5# 41t




(2
.

/////////

-
%

AN

4/8




P
3

\

.

J X2

—_— \ >

M6Xx13mm

K X2

Mox30mm

M X2

M67*14*1

5/8




777
Z/ A ?///////// A K x4

%5 6

Mox30mm

M x4

M6*14™1

6/8




77 DY v L [
7 8
/ / <5V
M6x40mm
M x4
M6*14™1
\_ AN %

7/8




///////// |
1

~

=
I
I
ft e
it ft

38/8




